StarTechy.om

Hard-to-find made easy®
Wall-Mount Monitor Arm
- Dual Swivel
ARMWALLDS

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest informati echnical specifications, and support for

this product, please visit v

Manual Revision: 12/04/2018


http://www.startech.com/ARMWALLDS

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

injury or property damage.

Mensagens de aviso

Ce
em ferimentos pessoais ou danos de propriedade.

o the ( ' Certifi exceder
Support the fllowing Weight Up 1o pode softer
ipport the following weight: Up to 15kg (33 1b.). Suportar o seguinte peso: 15 kg.
g
por o
four times the weight of the mounted equipment. trutura d
it
a construction professional to install de d
your wall structure. gsthausar,
Varningsmeddelanden Advertencias de uso
person eler egendom uppsta. Iesiones personaies o danos e I ropiedad.
o Om viktkapacite Kan skad ed
9 t 15kg. i duci
N Sigquiente capacidad de carga 15 kilogramos
Kon skads pa fie S Sone
vikien av den monterade utrustningen.
plig Or instalado.
kontakta en
monteringsinsiruktioner for din vaggstrUkLur e pare
lsoporte de
Avertissements
vous
Tisquez de vous blesser ou dendommager léquipement
A Ce produit gen
peut supporter de 15 kg. lichamelijk letsel of materiéle schade ontstaan.
s u
an per it product
; ondersteunt et volgende gewicht: 15 kg
| po
=
ce produit d de
il vous fournsse es demontage
spécifiques 3 votre structure de mur. omten
R g g
Warnhinweise d specificke

Personen oder Schiden an Eigentum fihren,

Vs ige Trag|

Wenn die Traglast
Di

Produktist f folgendes Gewicht geeignet: 15 k.

wenn

von fihren,
Gewichts des montierten Gerats halten konnen.

Wenn lhnen

montage-instructies voor uw wandstructuur te geven.

EE
RSB I TARBOEH I TE 7o T RS BURVE BB A I, BEE 85BN
PIEEESRETIBNLBUET.

BUNHBE=S—OERN AUS ZmbehrEﬂ‘an&@zf,u;auuT*u Exﬁ
BEREAS—/(—LIRE,
KRB BKISkgF COT=5— BAICHSLTAET,

Produk Wand

i hre Wand erteilen.

Dichiarazioni di avvertenza

danni a persone o proprieta

TORYIREBLTY FHOREICLE

BTFEL,

BOMERBEROBATLIRLYES, CEBICHLOMWES A TR RRA B
ESR-ERMRICERTHCLEME TEV HERE RO EE. BEERSBNPMNEEH
BETHEADBYET, EOWEN MU BT =2~ EROBE 4 EE LR TEBLIOR
EERO TR N E A,

bieia nm*n'{vz,mﬁwﬁgm CEMICEBEDMEIHL THATIFELEES B
11755, TOEEPIIBSFRLTOAEHIIEN RS, SPIREICER

grado di supportare | sequenti pesi: 15 kg.

Istruzioni di montaggio per la struttura muraria in uso.

Instruction manual

2 HEISCEEN FRUREEBATES
1’(ﬁ‘bl\zﬂmf%n1’(‘F*b\

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings

Introduction

Product dimensions

Technical specifications

Package contents

Requirements

v o w N

Installation

Attach the mounting plate to a wall
Attach a monitor to the display arm

Adjust the angle of the monitor

o o v U

Technical support

Warranty information

O

Instruction manual

StarTechy.0m

Hard-to-find made easy



Introduction
Product dimensions

154 mm

StarTechy.0m

Instruction manual
Hard-to-find made easy



Technical specifications

Type of measurement

Instruction manual

Swivel

3

Measurement

75x75
100x100

+45° to -45°

Between 330 mm and 686 mm
(13in.and 27 in.)

+90° to -90°

StarTechy.0m

2 Hard-to-find made easy



Package contents

Display arm ) Mounting plate
Qty: One Qty: One

2.5 mm hex key 4 mm hex key
Qty: One Qty: One

(B

5 mm hex key Set screw
Qty: One Qty: One

Instruction manual Sta rTeCh.Com

3 Hard-to-find made easy



M4x14 mm screws M5x14 mm screws

Qty: Four Qty: Four

Mounting screws Screw anchors

0 StafTechy-om :

Wall-Mount Moitor Arm
“Dual Swivel

| SV

Instruction manual
Qty: One

Instruction manual Sta rTeCh.Com

4 Hard-to-find made easy



Requirements

A monitor or display that is compatible with one of the VESA mounting hole
patterns that ARMWALLDS supports

A Phillips screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ARMWALLDS.

Installation

Attach the mounting plate to a wall

Warning! Wall structures vary, and it is important that you make sure that the type

of structure and mounting hardware that you are using will properly support the
mounted equipment. Failure to do so may result in personal injury and/or equipment
damage. The wall structure should be capable of supporting at least four times the
weight of the mounted equipment.

Warning! The mounting hardware included with this product might not be adequate
for some wall structures. If you lack the necessary expertise to attach this product

to the wall that you are using, contact a construction professional to install the
ARMWALLDS or to provide specific mounting instructions for your wall structure.

1. Use the holes in the mounting plate as a template and use a pencil to mark the
location on the wall where you want to attach the wall mount. (figure 1)

2. Follow the appropriate steps for the type of wall that you're using and attach the
mounting plate to the wall.

figure 1

StarTechy.0m

5 Hard-to-find made easy

Instruction manual


http://www.startech.com/ARMWALLDS

Attach a monitor to the display arm

Warning! Attaching the monitor is a two-person job. Do not attempt to complete this
task by yourself.

To accommodate different monitor sizes, the ARMWALLDS comes with two sets of
screws that are different lengths and diameters.

To select the appropriate screws for the type of monitor that you're using, complete
the following:

+ Determine the depth of the mounting holes on the monitor.

« Determine the diameter of the mounting holes on the monitor.

. Line up the mounting holes on the display arm with the mounting holes on the
back of the monitor.

2. Insert the M4x14 mm screws or the M5x14 mm screws through the display arm
and into the back of the monitor.

3. Use a Phillips screwdriver to tighten the screws.(figure 2)

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the

\/?%Xi‘%/

figure 2

M4x14 mm screw ——

M5x14 mm screw
= StarTechy.0m

6 Hard-to-find made easy

Instruction mant.



4. Carefully lift up the display arm with the monitor attached and slide the display
arm into the mounting plate. (figure 3)

figure 3

Display arm ———af

Mounting plate

5. Insert the set screw into the mounting plate and display arm.
6. Use the 2.5 mm hex key to tighten the set screw. (figure 4)

figure 4

Set screw
2.5 mm hex key

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



7. Run the monitor cable through the cable-management hook on the bottom of the
mounting plate. (figure 5)

figure 5

Cable-management hook

Adjust the angle of the monitor
To position the monitor, do either of the following:

+ Use the 5 mm hex key to loosen the screw in the monitor mount. Move the monitor
and then tighten the screw again. (figure 6)

+ Use the 4 mm hex key to adjust the swivel joints in the display arm. (figure 6)

figure 6

5 mm hex key

4 mm hex key StafTeCh.com

8 Hard-to-find made easy

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

9 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



